
j8f g+= $ sf] of]hgf tyf sfo{qmdsf] ljj/0fx? 

;8s tkm{sf] of]hgfx?  

qm=;= of]hgfx? ah]6 s}lkmot 

1 lh/L a;kfs{ af]b\n] k6f;] u|fld0f ;8s 1000000 :t/f]GgtL 

2 lh/]Zj/L k|f=lj= 8Nn]dfg] ;8s  500000 :t/f]GgtL 

3 /ftdf6]–d]Skf u|fld0f ;8s 800000 :t/f]GgtL 

4 sfnf]vf]nf b]p/fnL k|f=lj= u|fld0f ;8s 200000 gofF 6«ofs 

5 lrq]–au/8fF8f u|fld0f ;8s 400000 :t/f]GgtL 

6 lrq] u'Daf u|fld0f ;8s  100000 :t/f]GgtL 

7 3}lnZj/f vf]Nd] u|fld0f ;8s  100000 :t/f]GgtL 

8 sfn8fF8f kfgL l5g]{ 3f6 vf]Nd] l;p/fgL u|f=;= 300000 :t/f]GgtL 

9 3}n]ZjfF/f sflQs] u|f=; 200000 gofF 6«ofs 

hDdf /sd ;8s lgdf{0f tkm{  3600000  

 

vfg]kfgL tyf ;/;kmfO{ tkm{sf] of]hgfx?  

qm=;= of]hgfx? ah]6 s}lkmot 

1 tNnf] s'g] a]l7Zjf/f d]Skf vfg]kfgL  250000 lhNnfaf6 klg yk 

2 tfSkf /ftdf6], b]l5d' vfg]kfgL 250000  

3 vfg]kfgL d'xfg btf{ tyf ;+/If0f  200000  

hDdf /sd vfg]kfgL tkm{ 700000  

 

k'n tyf cGo of]hgfx?  

qm=;= of]hgfx? ah]6 s}lkmot 

1 lrq] vf]nf 225000  

2 lh/L vf]nf 150000  

3 au/ vf]nf  225000  



4 u'Daf d7dlGb/ ;'wf/  600000  

hDdf /sd k'n tkm{ 1200000  

hDdf /sd ?=%%,)),))).– 

 


